

	Pagina
R. Balasubramanian and K. Ramachandra, On the number of integers n such that $nd(n) \leq x$	313-322
D. R. Heath-Brown, The growth rate of the Dedekind Zeta-function on the critical line	323-339
J.-M. Deshouillers et F. Dress, Sommes de diviseurs et structure multiplicative des entiers	341-375
G. Freiman and H. Halberstam, On a product of sines	377-385
J. Pintz, Elementary methods in the theory of L -functions. IX. Density theorems	387-394
J.-L. Nicolas, Nombres hautement composés	395-412
H. Furstenberg and B. Weiss, Simultaneous diophantine approximation and IP -sets	413-426
H. L. Montgomery and A. M. Odlyzko, Large deviations of sums of independent random variables	427-434

La revue est consacrée à la Théorie des Nombres
 The journal publishes papers on the Theory of Numbers
 Die Zeitschrift veröffentlicht Arbeiten aus der Zahlentheorie
 Журнал посвящен теории чисел

L'adresse de
 la Rédaction
 et de l'échange

Address of the
 Editorial Board
 and of the exchange

Die Adresse der
 Schriftleitung und
 des Austauschches

Адрес редакции
 и книгообмена

ACTA ARITHMETICA
 ul. Śniadeckich 8, 00-950 Warszawa

Les auteurs sont priés d'envoyer leurs manuscrits en deux exemplaires
 The authors are requested to submit papers in two copies
 Die Autoren sind gebeten um Zusendung von 2 Exemplaren jeder Arbeit
 Рукописи статей редакция просит предлагать в двух экземплярах

© Copyright by Państwowe Wydawnictwo Naukowe, Warszawa 1988

ISBN 83-01-07861-8 ISSN 0065-1036

PRINTED IN POLAND



BIBLIOTEKA
 05

On the number of integers n such that $nd(n) \leq x$

by

R. BALASUBRAMANIAN (Madras) and K. RAMACHANDRA (Bombay)

1. Introduction. In this paper, we investigate the asymptotic formula for the number of integers n such that $nd(n) \leq x$. The problem was first considered by Abbott and Subbarao [1] who proved that

$$\sum_{nd(n) \leq x} 1 \sim c \frac{x}{\sqrt{\log x}} \quad \text{for a suitable } c > 0.$$

Our aim is to improve and generalize their result.

Let $\lambda > 0$ and let $g(n)$ be a multiplicative function such that (i) $g(p) = 1/\lambda$ for all primes p , (ii) $g(n) > 0$ and (iii) $g(n) \gg n^{-1/16}$. Then we prove

THEOREM 1. *The following asymptotic formula holds:*

$$\sum_{ng(n) \leq x} 1 \sim cx(\log x)^{\lambda-1} \quad \text{for a suitable constant } c > 0.$$

Remark 1. It is clear from the proof that we get an asymptotic expansion with an error term

$$O(x \exp(-c(\log x)^{3/5} (\log \log x)^{-1/5}))$$

Remark 2. Theorem 1 gives an affirmative answer to the problem raised by Professor Erdős, in one of his letters to the second author, whether

$$\sum_{n/d(n) \leq 2x} 1 \sim 2 \sum_{n/d(n) \leq x} 1 \quad \text{as } x \rightarrow \infty$$

Remark 3. The condition $|g(n)| \gg n^{-1/16}$ could be weakened to

$$|g(n)| \gg n^{-1/2+\varepsilon} \quad \text{for some } \varepsilon > 0.$$

Remark 4. The method of proof will also apply to get an asymptotic formula for $\sum_{n \leq x} 1/g(n)$. In fact,

$$\sum_{n \leq x} \frac{1}{g(n)} \sim \sum_{ng(n) \leq x} 1.$$

2. Notation. Let $f(s) = \sum_{n=1}^{\infty} 1/(ng(n))^s$ in $\sigma > 2$; $\tau = |t| + 30$; $s = \sigma + it$;

A be a constant, as appearing in Lemma 1 below. x is sufficiently large; $B = \exp(-A(\log x)^{3/5}(\log \log x)^{-1/5})$.

3. Analytic continuation of $f(s)$. Let $\Phi(s) = f(s)(\zeta(s))^{-\lambda^s}$ in $\sigma > 1$. Here we take a suitable branch of $(\zeta(s))^{-\lambda^s} = \exp(-\lambda^s \log \zeta(s))$ such that it is positive for real values of $s > 1$.

LEMMA 1. *There exists a constant A , $0 < A < 1/10000$, such that*

$$\sigma \geq 1 - 100A(\log \tau)^{-2/3}(\log \log \tau)^{-1/3},$$

$|s-1| \geq 10^{-3}$ is free of zeros of $\zeta(s)$. Further in this region, $\log(\zeta(s)(s-1))$ can be analytically continued such that it is real for real values of $s > 1$ and further $|\log(\zeta(s))|$ is $\ll (\log \tau)^{99/100}$ in that region.

Proof. The proof can be found in [3] or [4].

LEMMA 2. *The function $f(s) = \Phi(s)(\zeta(s)(s-1))^{\lambda^s}(s-1)^{-\lambda^s}$ can be analytically continued in $\sigma \geq 1 - 50A(\log \tau)^{-2/3}(\log \log \tau)^{-1/3}$, $|s-1| \geq 10^{-3}$, $-\pi < \arg(s-1) < \pi$ so that $f(s)$ is real for real values of $s > 1$ and further in this region $f(s) = O(\tau^{1/2})$.*

Proof. We have

$$\begin{aligned} \Phi(s) &= \prod_p \left(\left(1 + \frac{1}{(pg(p))^s} + \frac{1}{(p^2g(p^2))^s} + \dots \right) \left(1 - \frac{\lambda^s}{p^s} + \frac{\lambda^s(\lambda^s-1)}{2!p^{2s}} - \dots \right) \right) \\ &= \prod_p \left(1 + \sum_{n=1}^{\infty} \frac{c_n}{p^{ns}} \right), \quad \text{say.} \end{aligned}$$

Clearly $c_1 = 0$ and

$$c_n = \sum_{r+l=n} \binom{\lambda^s}{r} \frac{(-1)^r}{(g(p^l))^s}.$$

Since $|g(p^l)| \geq p^{-l/16}$ and $\left| \binom{\lambda^s}{r} \right| \leq \binom{\lambda^{\sigma+r-1}}{r}$, we have

$$\begin{aligned} |c_n| &\leq \sum_{r+l=n} \binom{\lambda^{\sigma+r-1}}{r} p^{l\sigma/16} = \sum_{r=0}^n \binom{\lambda^{\sigma+r-1}}{r} p^{(n-r)\sigma/16} \\ &\leq p^{n\sigma/16} \sum_{r=0}^{\infty} \binom{\lambda^{\sigma+r-1}}{r} p^{-r\sigma/16} \\ &\leq p^{n\sigma/16} (1 - p^{-\sigma/16})^{-\lambda^{\sigma}} \leq p^{n\sigma/16} (1 - 2^{-\sigma/16})^{-\lambda^{\sigma}}. \end{aligned}$$

Hence (with \ll constant depending on λ), in $3/4 \leq \sigma \leq 2$

$$\left| \sum_{n=1}^{\infty} \frac{c_n}{p^{ns}} \right| \ll \left| \sum_{n=2}^{\infty} \frac{p^{n\sigma/16}}{p^{n\sigma}} \right| \ll p^{-15\sigma/8}.$$

Hence the product $\prod_p (1 + \sum c_n p^{-ns})$ converges in $\sigma \geq 3/4$ and thus defines an

analytic function there. From Lemma 1, we see that $(\zeta(s)(s-1))^{\lambda^s}$ can be analytically continued in $\sigma \geq 1 - 50A(\log \tau)^{-2/3}(\log \log \tau)^{-1/3}$; and further we note that, in this region, $\Phi(s)$ is bounded and

$$|(\zeta(s))^{\lambda^s}| = |\exp(\lambda^s \log \zeta(s))| \leq \exp(|\lambda^s \log \zeta(s)|) = O(\tau^{1/4})$$

by Lemma 1. Hence (since we may restrict to $\sigma \leq 2$),

$$f(s) = \Phi(s)(\zeta(s))^{\lambda^s} = O(\tau^{1/2}).$$

4. The contour integration. For any $\varepsilon > 0$, we consider the following contour $c(\varepsilon)$. Let $\alpha(t) = 1 - 10A(\log \tau)^{-2/3}(\log \log \tau)^{-1/3}$. From $t = -\infty$ to $t = -\varepsilon$, we traverse along the curve $\sigma = \alpha(t)$ (denoted by $L_1(\varepsilon)$), we go along the circle with centre $s = 1$, in the anticlockwise direction till we reach $\alpha(\varepsilon) + i\varepsilon$ (denoted by $C(\varepsilon)$) and continue along the curve $\sigma = \alpha(t)$ till $t = \infty$ (denoted by $L_2(\varepsilon)$). The curves L_1, C and L_2 are obtained by allowing $\varepsilon \rightarrow 0$.

LEMMA 3. *We have*

$$\sum_{ng(n) \leq x} \log \frac{x}{ng(n)} = \frac{1}{2\pi i} \int_{2-i\infty}^{2+i\infty} f(s) \frac{x^s}{s^2} ds.$$

Proof. Since

$$\frac{1}{2\pi i} \int_{2-i\infty}^{2+i\infty} \frac{y^s}{s^2} ds = \begin{cases} \log y, & y \geq 1, \\ 0, & 0 < y < 1 \end{cases} \quad \text{and} \quad f(s) = \sum_n \frac{1}{(ng(n))^s},$$

the result follows.

LEMMA 4. *On L_1 and L_2 ,*

$$\left| \frac{x^s}{|s|^{1/4}} \right| = O(xB^6)$$

and consequently $\int_{L_j} f(s) \frac{x^s}{s^2} ds = O(xB^6)$.

Proof. If $\log \tau \geq 24A(\log x)^{3/5}(\log \log x)^{-1/5}$, then

$$\left| \frac{x^s}{|s|^{1/4}} \right| \ll \frac{|x|}{\tau^{1/4}}$$

and hence the estimate. If $\log \tau \leq 24A(\log x)^{3/5}(\log \log x)^{-1/5}$, then

$$\left| \frac{x^s}{|s|^{1/4}} \right| \ll x^{\sigma} = x^{\alpha(t)} = x \cdot x^{-(1-\alpha(t))}$$

and hence the estimate. Now

$$\int_{L_1} f(s) \frac{x^s}{s^2} ds \ll \max_{s \in L_1} \frac{|x^s|}{|s|^{1/4}} \int \frac{|f(s)|}{|s|^{7/4}} |ds|$$

and since $f(s) = O(|s|^{1/2})$, the integral is convergent. Thus the required estimate follows, and similarly we argue for \int_{L_2} .

Thus we have

THEOREM 2. *There holds the asymptotic formula*

$$\sum_{ng(n) \leq x} \log \frac{x}{ng(n)} = \frac{1}{2\pi i} \int_C f(s) \frac{x^s}{s^2} ds + O(xB^6).$$

Proof. From Lemma 3 we have

$$\sum_{ng(n) \leq x} \log \frac{x}{ng(n)} = \frac{1}{2\pi i} \int_{2-i\infty}^{2+i\infty} f(s) \frac{x^s}{s^2} ds.$$

Moving the line of integration, we have

$$\sum_{ng(n) \leq x} \log \frac{x}{ng(n)} = \frac{1}{2\pi i} \left(\int_C + \int_{L_1} + \int_{L_2} \right) \left(\frac{f(s)x^s}{s^2} ds \right)$$

and the result follows from Lemma 4.

5. Expansion of $f(s)$.

LEMMA 5. *On the contour C , the following expansions hold for suitable b_m, c_m, d_m and $e_{m,n}$:*

(a) $\Phi(s) = \sum_{m=0}^{\infty} b_m (s-1)^m,$

(b) $(\zeta(s)(s-1)^\lambda)^\lambda = \sum_{m=0}^{\infty} c_m (s-1)^m,$

(c) *For every integer n ,*

$$\left(\frac{1-\lambda^{s-1}}{s-1} \right)^n = \sum_{m=0}^{\infty} d_m (s-1)^m, \quad d_m = d_m(n)$$

(d) $(s-1)^{\lambda-\lambda^s} = \sum_{\substack{m,n \\ n \leq m}} e_{m,n} (s-1)^m (\log(s-1))^n.$

Further

$$b_m = O(8^m); \quad c_m = O(8^m); \quad d_m = O(8^m H^m) \quad \text{and} \quad e_{m,n} = O\left(\frac{\lambda^n H^n}{n!} 8^m\right).$$

Here

$$H = \max_{|s-1| \leq 1/2} \left| \frac{1-\lambda^{s-1}}{s-1} \right|.$$



Proof. Since $\Phi(s)$ is regular in $|s-1| \leq 1/8$, the power series expansion in (a) is valid. Further,

$$b_m = \frac{1}{2\pi i} \int_{|s-1|=1/8} \frac{\Phi(s)}{(s-1)^{m+1}} ds = O(8^m).$$

Similarly we can prove (b) and (c). Now

$$\begin{aligned} (s-1)^{\lambda-\lambda^s} &= \exp((\lambda-\lambda^s) \log(s-1)) = \sum_{j=0}^{\infty} \frac{(\lambda-\lambda^s)^j}{j!} (\log(s-1))^j \\ &= \sum_{j=0}^{\infty} \frac{\lambda^j}{j!} \left(\frac{1-\lambda^{s-1}}{s-1} \right)^j (s-1)^j (\log(s-1))^j \end{aligned}$$

and (d) follows using (c).

LEMMA 6. *On the contour C , for suitable coefficients $a_{m,n}$ with $|a_{m,n}| \ll e^{\lambda H} 10^m$, we have*

$$f(s)(s-1)^\lambda = \sum_{0 \leq n \leq m} a_{m,n} (s-1)^m (\log(s-1))^n.$$

Proof. Since $f(s)(s-1)^\lambda = \Phi(s)(\zeta(s)(s-1)^\lambda)^\lambda (s-1)^{\lambda-\lambda^s}$, the result follows from Lemma 5.

6. More on the main term. Now we get an asymptotic formula for the main term appearing on the right side of Theorem 2.

Lemmas 7, 8 and 9 are probably well known.

LEMMA 7. *For an integer $m \geq 0$ and real $a \geq 0$,*

$$\int_{\substack{-\infty \\ \arg(s-1) = \pm \pi}}^1 (s-1)^a (\log(s-1))^m x^{s-1} ds = \left(\frac{d}{da} \right)^m \left(\frac{e^{\pm \pi i a} \Gamma(a+1)}{(\log x)^{a+1}} \right).$$

Proof. We consider the case $\arg(s-1) = \pi$, the other case being similar. In the special case $m=0$, the substitution $s = 1 + re^{i\pi}$ makes the integral $e^{i\pi a} \int_0^\infty r^a x^{-r} dr$ which is $\frac{e^{i\pi a} \Gamma(a+1)}{(\log x)^{a+1}}$. The general case is obtained by differentiating m times with respect to a .

LEMMA 8. *Let $\mathcal{D}(\varepsilon)$ be any curve starting from $-\infty - i\varepsilon$ and ending at $-\infty + i\varepsilon$ traversing in the anticlockwise direction such that the point $s = 1$ is inside the region enclosed by $\mathcal{D}(\varepsilon)$. Let \mathcal{D} be the curve obtained by allowing $\varepsilon \rightarrow 0$ in $\mathcal{D}(\varepsilon)$. Then*

$$\frac{1}{2\pi i} \int_{\mathcal{D}} x^{s-1} (s-1)^a (\log(s-1))^m ds = \left(\frac{d}{da} \right)^m \left(\frac{\Gamma(a+1) \sin \pi a}{(\log x)^{a+1} \pi} \right).$$

Proof. As in Lemma 7, it suffices to consider $m=0$. In this case, since both sides are analytic functions of the complex variable a , it suffices to

prove the lemma for real $a \geq 1$. In this case, the curve $\mathcal{D}(\varepsilon)$ could be transformed to the curve $\mathcal{D}^*(\varepsilon)$ defined as follows. From $-\infty - i\varepsilon$ to $1 - \varepsilon - i\varepsilon$ by a straight line, from $1 - \varepsilon - i\varepsilon$ to $1 - \varepsilon + i\varepsilon$ by a circle around $s = 1$ and from $1 - \varepsilon + i\varepsilon$ to $-\infty + i\varepsilon$ by a straight line. The curve \mathcal{D}^* is obtained as $\lim_{\varepsilon \rightarrow 0} \mathcal{D}^*(\varepsilon)$. Then

$$\frac{1}{2\pi i} \int_{\mathcal{D}} x^{s-1} (s-1)^a ds = \frac{1}{2\pi i} \int_{\mathcal{D}^*} x^{s-1} (s-1)^a ds.$$

Now as $\varepsilon \rightarrow 0$, the integral on the circular part of $\mathcal{D}^*(\varepsilon)$ tends to zero. Hence

$$\frac{1}{2\pi i} \int_{\mathcal{D}} x^{s-1} (s-1)^a ds = \int_{\arg(s-1)=-\pi}^{-\infty} + \int_{\arg(s-1)=\pi}^{-\infty}$$

and now the result follows from Lemma 7.

LEMMA 9. For integer $m \geq 0$ and real $a \leq (\log x)^{4/5}$, we have (if $|a| + m \leq (\log x)^{4/5}$)

$$\frac{1}{2\pi i} \int_C x^{s-1} (s-1)^a (\log(s-1))^m ds = \left(\frac{d}{da}\right)^m \left(\frac{\sin \pi a}{\pi} \frac{\Gamma(a+1)}{(\log x)^{a+1}}\right) + O(xB^3).$$

Proof. Consider the curve $\mathcal{D}(\varepsilon)$ defined as follows. From $-\infty - i\varepsilon$ to $\alpha(\varepsilon) - i\varepsilon$ by a straight line, from $\alpha(\varepsilon) - i\varepsilon$ to $\alpha(\varepsilon) + i\varepsilon$ along a circle with centre $s = 1$ (that is along the curve $C(\varepsilon)$) and from $\alpha(\varepsilon) + i\varepsilon$ to $-\infty + i\varepsilon$ by a straight line. Then the curve $\mathcal{D}(\varepsilon)$ satisfies the conditions of Lemma 8. Hence, from Lemma 8,

$$\frac{1}{2\pi i} \int_{\mathcal{D}} x^{s-1} (s-1)^a (\log(s-1))^m ds = \left(\frac{d}{da}\right)^m \left(\frac{\Gamma(a+1) \sin \pi a}{(\log x)^{a+1} \pi}\right).$$

Hence, defining $\alpha = \alpha(0)$,

$$\frac{1}{2\pi i} \left(\int_{\arg(s-1)=-\pi}^{\alpha} + \int_C + \int_{\arg(s-1)=\pi}^{-\infty} \right) (x^{s-1} (s-1)^a (\log(s-1))^m ds) = \left(\frac{d}{da}\right)^m \left(\frac{\Gamma(a+1) \sin \pi a}{\pi (\log x)^{a+1}}\right).$$

Hence

$$\frac{1}{2\pi i} \int_C x^{s-1} (s-1)^a (\log(s-1))^m ds = \left(\frac{d}{da}\right)^m \left(\frac{\Gamma(a+1) \sin \pi a}{\pi (\log x)^{a+1}}\right) + O\left(\int_{\arg(s-1)=\pm\pi}^{\alpha} x^{\sigma-1} (1-\sigma)^a |\log(s-1)|^m d\sigma\right)$$

and this proves the result.

LEMMA 10. For integer $m \geq 0$ and real $a \geq m/2$ such that $m+a \geq (\log x)^{4/5}$, we have

$$\frac{1}{2\pi i} \int_C x^{s-1} (s-1)^a (\log(s-1))^m ds = O(xB^3 (1-\alpha)^{a/2}),$$

where $\alpha = \alpha(0)$.

Proof. We note that the contour $C(\varepsilon)$ could be transformed into the contour defined as follows. From $\alpha(\varepsilon) - i\varepsilon$ to $1 - \varepsilon - i\varepsilon$ by a straight line, from $1 - \varepsilon - i\varepsilon$ to $1 - \varepsilon + i\varepsilon$ by a circle around $s = 1$ and from $1 - \varepsilon + i\varepsilon$ to $\alpha(\varepsilon) + i\varepsilon$ by a straight line. Since a is large enough, the contribution of the circular part tends to zero as $\varepsilon \rightarrow 0$. Hence

$$\begin{aligned} & \frac{1}{2\pi i} \int_C x^{s-1} (s-1)^a (\log(s-1))^m ds \\ &= \frac{1}{2\pi i} \int_{\arg(s-1)=-\pi}^1 x^{s-1} (s-1)^a (\log(s-1))^m ds \\ & \quad + \frac{1}{2\pi i} \int_{\arg(s-1)=\pi}^{\alpha} x^{s-1} (s-1)^a (\log(s-1))^m ds \\ &= O\left(\int_{\arg(s-1)=\pm\pi}^1 x^{\sigma-1} |1-\sigma|^a |\log(s-1)|^m d\sigma\right) \end{aligned}$$

and now trivial estimate gives the result.

THEOREM 3. The integral $\int_C \frac{f(s) x^s}{s} ds$ can be expressed as

$$x(\log x)^{\lambda-1} \sum_{n \leq m \leq (\log x)^{4/5}} A_{m,n} (\log x)^{-m} (\log \log x)^n + O(xB^2)$$

where the coefficients $A_{m,n}$ are bounded by $O(100^m m^m (\log m)^m)$. A similar result holds for $\int_C \frac{f(s) x^s}{s^2} ds$.

Proof. By Lemma 6, $f(s)(s-1)^\lambda$ can be written as

$$\sum_{0 \leq n \leq m} a_{m,n} (s-1)^m (\log(s-1))^n.$$

Hence

$$f(s) = \sum_{0 \leq n \leq m} a_{m,n} (s-1)^{m-\lambda} (\log(s-1))^n.$$

Now the result follows from Lemmas 9 and 10.

7. **Final result.** We define

$$S(x) = \sum_{ng(n) \leq x} 1, \quad M(x) = \int_c^x f(s) \frac{x^s}{s} ds,$$

$$H(x) = \int_0^x \frac{S(u)}{u} du = \sum_{ng(n) \leq x} \log \frac{x}{ng(n)};$$

let δ be a real number with $\delta = o(x)$.

LEMMA 11. *We have*

$$H(x+\delta) - H(x) \geq \delta S(x)/(x+\delta).$$

Proof.

$$H(x+\delta) - H(x) = \int_x^{x+\delta} \frac{S(u)}{u} du \geq \frac{S(x)}{x+\delta} \int_x^{x+\delta} du \geq \frac{S(x)}{x+\delta} \delta.$$

LEMMA 12. *We have*

$$H(x+\delta) - H(x) \leq \frac{\delta}{x} M(x) + O(xB^2) + O\left(\frac{\delta^2}{x} (\log x)^{\lambda+10}\right).$$

Proof. In $x \leq u \leq x+\delta$,

$$M(u) = M(x) + O(\delta M'(\xi)) \quad \text{for some } \xi, x \leq \xi \leq x+\delta.$$

From the method of proof of Theorem 3, $M'(\xi) = O((\log x)^{\lambda+10})$. Hence

$$M(u) = M(x) + O(\delta (\log x)^{\lambda+10}).$$

By Theorem 2,

$$H(x) = \int_c^x f(s) \frac{x^s}{s^2} ds + O(xB^6) = \int_0^x \frac{M(u)}{u} du + O(xB^6),$$

$$\begin{aligned} H(x+\delta) - H(x) &= \int_x^{x+\delta} \frac{M(u)}{u} du + O(xB^6) \leq \frac{1}{x} \int_x^{x+\delta} M(u) du + O(xB^6) \\ &= \frac{1}{x} \int_x^{x+\delta} (M(x)) du + O\left(\frac{\delta^2}{x} (\log x)^{\lambda+10}\right) + O(xB^6) \end{aligned}$$

and this proves the result.

LEMMA 13. *We have*

$$S(x) \leq M(x) + O\left(\frac{x^2 B^6}{\delta}\right) + O(\delta (\log x)^{\lambda+10}).$$

Proof. This follows from Lemmas 11 and 12.

Similarly, by considering the interval $(x-\delta, x)$, we can deduce

LEMMA 14. *We have*

$$S(x) \geq M(x) + O\left(\frac{x^2 B^6}{\delta}\right) + O(\delta (\log x)^{\lambda+10}).$$

From Lemmas 13 and 14, we deduce, by the proper choice of δ

THEOREM 4. *We have*

$$S(x) = M(x) + O(x \exp(-A(\log x)^{3/5} (\log \log x)^{-1/5})).$$

Now Theorem 1 follows from Theorems 3 and 4.

8. **Some related questions.** In this section, we discuss some related problems. Mainly we are interested in relaxing the condition $g(p) = 1/\lambda$. For example, one can assume that

$$g(p) = \frac{1}{\lambda} + O(\exp(-c(\log p)^{1/a})) \quad \text{for some } c > 0, 0 \leq a < 2/3$$

and conclude that

$$\sum_{ng(n) \leq x} 1 = \int_c^x f(s) \frac{x^s}{s} ds + O(x \exp(-A(\log x)^{3/5} (\log \log x)^{-1/5}))$$

for some $A > 0$.

If, on the other hand, one assumes that

$$g(p) = \frac{1}{\lambda} + O(\exp(-c(\log p)^{1/a})) \quad \text{for some } c > 0, 2/3 \leq a \leq 1,$$

then, defining as above $\Phi(s) = (\zeta(s))^{-\lambda^s} f(s)$, we may not be able to prove that $|\Phi(s)| = O(|t|+3)^{1/2}$. But we can choose, as has been done in Bateman

[2], for the particular case $g(n) = \frac{\varphi(n)}{n}$, $\alpha(t) = 1 - c \frac{\log \log \tau}{\log \tau}$ and move the line of integration to $\sigma = \alpha(t)$ with a detour at the point $s = 1$. This proves that

$$\sum_{ng(n) \leq x} 1 = \int_c^x f(s) \frac{x^s}{s} ds + O(x \exp(-A(\log x \log \log x)^{1/a+1})) \quad \text{for some } A > 0.$$

Acknowledgement. The authors are thankful to the referee for some helpful comments.

References

[1] H. L. Abbott and M. V. Subbarao (Oral communication) (M. V. Subbarao says that there is a mistake. We hope that it is correctible).
 [2] Paul T. Bateman, *The distribution of values of the Euler function*, Acta Arith. 21 (1972), pp. 329-345.

- [3] H. L. Montgomery, *Topics in Multiplicative Number Theory*, Lecture Notes in Mathematics 227, Springer-Verlag, Berlin 1971.
- [4] A. Walfisz, *Weylsche Exponentialsummen in der neueren Zahlentheorie*, VEB Deutscher Verlag der Wissenschaften, Berlin 1963.

THE INSTITUTE OF MATHEMATICAL SCIENCES
Madras 600 113
India
SCHOOL OF MATHEMATICS
TATA INSTITUTE OF FUNDAMENTAL RESEARCH
HOMI BHABHA ROAD
Bombay 400 005
India

Received on 14.2.1986
and in revised form on 16.9.1986

(1590)

The growth rate of the Dedekind Zeta-function on the critical line

by

D. R. HEATH-BROWN (Oxford)

For Paul Erdős
on his 75th birthday

1. Introduction. Let K be an algebraic number field of degree n , and let $\zeta_K(s)$ be its Dedekind Zeta-function. Thus

$$\zeta_K(s) = \sum_A (NA)^{-s} \quad (\operatorname{Re}(s) > 1),$$

where A runs over the non-zero integral ideals of K , and NA is the absolute norm of A . The question considered in this paper is the order of magnitude of $\zeta_K(s)$ on the critical line. The trivial bound is

$$\zeta_K(\tfrac{1}{2} + it) \ll_K t^{n/4} \quad (t \geq 1),$$

where the notation \ll_K indicates that the implied constant may depend on K . This follows from our Lemma 2, for example. When $K = \mathbb{Q}$, the Dedekind Zeta-function reduces to the Riemann Zeta-function $\zeta(s)$, and one has the estimate $\zeta(\tfrac{1}{2} + it) \ll t^{1/6 + \varepsilon}$ ($t \geq 1$) for any fixed $\varepsilon > 0$. Indeed, the exponent can be slightly reduced. When the field K is Abelian, $\zeta_K(s)$ factorizes as a product of $\zeta(s)$ and $n-1$ Dirichlet L -functions $L(s, \chi)$. For these one can prove an estimate

$$(1.1) \quad L(\tfrac{1}{2} + it, \chi) \ll_{\chi} t^{1/6 + \varepsilon} \quad (t \geq 1).$$

(Here also it is possible to improve the exponent $1/6$ in the same way as for $\zeta(s)$.) It follows that

$$(1.2) \quad \zeta_K(\tfrac{1}{2} + it) \ll_K t^{n/6 + \varepsilon} \quad (t \geq 1)$$

if K is Abelian. It would be of interest to make the dependence on K explicit. However, it is difficult to get a satisfactory uniform estimate even in the case of (1.1), and so we concentrate on the t -dependence in this paper. Our goal is to prove the bound (1.2) for all K , whether Abelian or not.